
Subtracting Integers (I)
Name: Date: Score:

Calculate each difference.

49 − 28 =

−48 − 30 =

38 − 3 =

44 − 1 =

26 − 20 =

−49 − −6 =

−46 − 44 =

−46 − 9 =

44 − −30 =

−35 − 46 =

37 − 41 =

17 − 45 =

−48 − −48 =

−48 − −45 =

−36 − −3 =

39 − −14 =

−20 − −42 =

30 − −34 =

36 − 28 =

31 − 34 =

30 − 15 =

34 − −9 =

44 − 35 =

−42 − 42 =

−43 − −37 =
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Subtracting Integers (I) Answers
Name: Date: Score:

Calculate each difference.

49 − 28 = 21

−48 − 30 = −78

38 − 3 = 35

44 − 1 = 43

26 − 20 = 6

−49 − −6 = −43

−46 − 44 = −90

−46 − 9 = −55

44 − −30 = 74

−35 − 46 = −81

37 − 41 = −4

17 − 45 = −28

−48 − −48 = 0

−48 − −45 = −3

−36 − −3 = −33

39 − −14 = 53

−20 − −42 = 22

30 − −34 = 64

36 − 28 = 8

31 − 34 = −3

30 − 15 = 15

34 − −9 = 43

44 − 35 = 9

−42 − 42 = −84

−43 − −37 = −6

Math-Drills.com


